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Quantitative Aptitude

Directions—{Q. 1-5) What

should come in place of the question-
mark (7) in the following questions ?

1.

361 %250 +50=25x7

(A) 742 (B) 72:2
Q) 704 (D) 724
(E) None of these
%xSﬁZO*%x?=373
{(A) 2850 {(B) 2540
() 2560 (D) 2480
(E) None of these

(7% +32=54

(A) 18" (B) 2744
(C) 1728 ) 12

(E) None of these

36% of 365 + 7% of 56-2 = 156-69
(A) 35 {B) 30

(C) 45 (D) 40

{E} None of these U
V2916 x V7 = 2268

(A) 1764 (B) 42

(©) 193 (D) 44

(E) Noreof thee

Directions—(Q 6-10) In the

following numbe series a wrong

numbe is given Find ou the wrong
number
6. 150 290 560 1120 214Q 423Q
84
(A) 2120 (B) 560
(© 11D (D) 4230
(BE) 290
7. 10 8,13 35,135 671, 4007
(A) 8 (B) 671
(©) 135 (D) 13
(BE) 35
8. 80,42 24,13-5 8-75 6-375 6-185
(A) 875 (B) 135
© 24 (D) 6-3B

(B) 42

9.

10.

(Basal on Memory)

125 75,45 25,16-2 9-72, 5-82

(A) 25 (B) 45
(©) 97 (D) 162
(E) 75
29,37,21,43,1353 5
(A) 37 (B) 53
() 13 (D) 21
(B 43

Directions—(Q 11-15 Study the

following table carefuly ard answe
the questiors given belaw it—

VariousFoodgrains Sold by

Various Farmers at Various

Prices
(Price pe kq)

Far- Foodgrains
mers | Rice| Corn| Bajra| Paddy | Jowar
A 30 225| 22 24 18

B 36 28 245 | 25 24

C |40 24 |21 | 26 205

D [345| 2715/ 28 | 25 25

E 36 32 30 285 27

11

12.

13.

14.

If Farme A selks 350 kg of Rice
150 kg of Com ard 250 kg of
Jowar how mudc would he
ean?

(A) © 19,43 (B) ® 18,5®

(C) * 155% (D) " 18,35

(E) Noreof thee

Wha is the averag price pa kg
of Bajra sod by all the farmes
togethe ?

(A) ° 2510 (B) ' 24-3

© 25 (D) © 23-©

(E) Noreof thee

If farmea D ard farme E, both
sel 240 kg of Bajra each what

would be the respectie ratio of
their earning ?

(A) 15:14 (B) 11:13

(C) 14:15 (D) 13:15

(E) Noreof thee

If farme C selk 180 kg ead of

Corn, Padg ard Jowa grains
how mud would he ean ?

15

16.

17.

18.

19.

(A) " 1350 (B) " 12,59
(C) * 1369 (D) ® 12,69
(E) Noreof thee

Earningson 150 kg of Padg sod
by farme B are gpproximately
what pe cen of the earning on
the sane amoun of Rice sod by
the sane farme ?

(A) 65 (B) 69
(€ 73 (D) 60
(E) 75

Shamia took a loan a simpke
interes rate of 6 p.c.p.ain the
first yea ard it increasd by 15
p.c.p.a evey year If she pays
© 8,19 as interes a the erd of
3 years wha was he loan
amourn ?

(A) ° 36,00
(B) ° 35,4®
(C) ° 36,80

(D) Canna be determine
(E) Noreof thee

Which of the following fractions
are in descending order ?

(E) None of these

In how mary differert ways can
the letters of the word 'AWARE'
be arrangd ?

(A) 150 (B) 10
(©) 40 (D) 60
(E) Noreof thee

Ayesha can complet a piece of
work in 16 days Amita can
complet the sane piee of work
in 8 days If both of them work
togethe in how mary days can
they complee the sane piee of
work ?



20.

(A) 6days  (B) 42 days

() 53days (D) 12 days
(E) None of these

(A) 6days (B) 4|day
(C) 5|days (D) 12 days

(E) Noreof thee

The avera@ of 5 numbes is 65.
The averag of the first two
numbesis 81 ard the averag of
the lag two numbes is 38 What
is the third numbe ?

(A) 63

(B) 87

© 9

(D) Canna be determine

(E) Nore of thee
Directions—(Q 21-25 Stud/ the

following graph carefuly ard answe
the questios given below it—

Nu

mber of Units Manufactured

and SoldpyaGAMPATY WE,ihe

No. of Units
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Wha is the differencebetwea
the numbe of unsod units of the
compaly in the yea 2006 ard
the numbe of unsod units of the
compay intheyea 20 ?

(A) 3lakhs (B) 35lakhs

(C) 5lakhs (D) 4lakhs

(E) Noreof thee

Wha isthe approximate averag@
numbe of units manufacturd
by the compary ove the yeas ?
(A) 28lakhs (B) 33lakhs

(C) Dlakhs (D) 35lakhs

(E) 26lakhs

Whé is the respectie ratio of the
numbe of units manufacturd
by the compay in the yea 2007

ard numbe of units sod by the 29

compary intheyea 2008 ?
(A) 5:8 B)3:2
(© 2:7 (D) 7:2
(E) Noreof thee

24.

25.

26.

27.

28.

The numbe of units sold in the
yea 2009 are approximately
wha pe cen of the numbe of
units sod by the compar in the
yea 2004 ?

(A) 78 (B) 80
©) 73 (D) 70
(B) 68

Wha is the totd numbe of
unsot units of the compary in
the yea 2006 ard the yea 2008
togethe ?

(A) 12lakhs (B) 15lakhs
(C) 7lakhs (D) 75 lakhs
(E) Noreof thee

Vinod makes a profit of ? 110 if
he sels a certan numbe of
pencik he has a the price of ?25
pe pencl ard incurs a loss of
? 55 if he sell the sane numbe
of pencik for <? 1- pe pencil
How mary pencik does Vinod
hawe ?

(A) 220

(B) 240

(C) 200

(D) Canna be determind

(E) Nore of thee

Which of the following represerst
ab=647

(A) 8a=8b

(B) a 16=6:4

(©) a8=hb:8

(D) 322a= b:2

(E) Nore of thee

A bus coverel a certan distane
from village A to village B a the
spe@ of 60 km/hr. Howeve
on its retumn journey it gat stuk
in traffic ard covera the sane
distane at the speedof 40 km/
hr. ard took 2 hours more to
read its destination Wha is the
distane coverel betwea village
AardB?

(A) 240 km

(B) 260 km

(C) 200 km

(D) Cannd be determind

(E) Nore of thee

The ratio of the numbe of
studens studyirg in schoot A, B
ard Cis5: 8: 4respectivelylf
the numbe of studeng studyirg
in ead of the schoo$is increasd

30.

by 20% 25% ard 30% respee
tively, wha will be the new res
pective ratio of the studens in
schoosA,Bard C ?

(A) 13:25:15

(B) 20:25:13

(C) 15:25:13

(D) Cannd be determind

(E) Nore of thee

A train speed pag a pole in 20
secom ard speed pas aplat
form 100 metr in lengh in 30
seconds What is the lengh of
the train ?

(A) 100 mete

(B) 150 mete

(©) 18 mete

(D) 200 mete

(E) Nore of thee

Directions—(Q. 31-35 Stud/ the

following table carefuly ard answe
the questios given below it—

Number of Students Applied,

Appeared and Qualified for
Various Courses

Courses| Applied | Appeared | Qualified
P 3500 3200 20590
Q 4000 3850 3700
R 5200 4900 4850
S 4500 4000 3500
T 5000 4800 4740
31. In which cour® is the differene

32

33.

betwea the numbe of studens
who applied ard the numbe of
studens who appeard the
loweg ?

(A) P (B Q
©) R D) S
® T

The numbe of studens who
qualified for cour®e R is approxi-
mately wha pea cert of the
numbe of studens who applied
for the course ?

(A) 81 (B) 89
© R (D) 9
(E) 85

Wha is the averag@ numbe of
studens who qualified from all
the course togethe ?

(A) 368 (B) 37%

(C) 3687 (D) 3768

(E) Noreof thee




34. Whatisthe respectie ratio of the
numbe of studens who applied
but did nat appea for courss S
to thos studens who applied
but did nat appeafor coure T ?
(A) 2:5 (B)5:7
(© 7:5 (D) 5:3
(E) Noreof thee

35. Wha is the differencebetwea
the numbe of studens who
appeard but did not qualify
from cour® P ard the numbe of
studens who appeard but did
nat qualify from coure Q ?

(A) 100 (B) 950

(©) 102 (D) 11

(E) Noreof thee

Directions—(Q 36-40 Stud the
following informatian carefuly ard
answe the questios given belowv
it-

There are 520 employes in an
organizatim working in various
departmerg viz HR, Marketing
FinancelT ard Legal Theemployes
in the variows departmentsre eithe
graduate or Postgraduate25% of
the totd numbe of employes ar
from HR department12% of the totd
numbe of employes are from
Marketing department45% of the
totd numbe of employes in the HR
departmenare Graduates50% of the
totd numbe of employes in the
Marketing departmen are postgra
duates 18% of the totd numbe of
employes in the organization are
from Finan® departmen out of
which 75% are postgraduates546
employes from IT departmeh are
Postgraduates 3 of the totd num
ber of employes in the organizatio
are in Legd department60% of the
totd numbe of employes in Legd
departmenare graduates

36. Wha is the totd numbe of
employesin IT departmen?
(A) 1014 (B) 130
(C) 158 (D) 1690
(E) Noreof thee

Whatis the totd numbe of Pog
Graduats in the organizatio

37.

from all the departmers
togethe ?

(A) 2597 (B) 250

(C) 2867 (D) 269

(E) Noreof thee

38. The numbe& of graduate in
Finane departmen is wha
pe cert of the totd numbe of
employesin the organization ?
(A) 45 (B)5
(C©) 556 (D) 3
(E) Noreof thee

What is the respectie ratio of
the numbe of Postgraduagein
Legd departmento the numbe
of Postgraduatein HR depart

39.

men ?
(A) 8:11 (B) 3:5
(C) 24:55 (D) 12:25

(E) Noreof thee

Wha is the totd numbe of
employes in HR, Finane ard
Legd departmergtogethe ?
(A) 343 (B) 2880

(C) 364 (D) 3016

(E) Noreof thee

Directions—(Q. 41-45 Study the
following Gragh ard Table carefully
and answe the questios given
below it—

40.

Percentag of Males, Females
and Children Livingin Various
Colonies

Males [ Females @ Children

£ 70,
£ 6]
g 50
E; NE 0
% o
§ 10
g0
Colonies
Total Number of Residensin
VariousColonies
Colonies Residens
A 1290
B 2050
C 180
D 1150
E 1620
41. Wha is the totd numbe of
females in colonies A, B ard C
togethe ?
(A) 178 (B) 1821
(C) 14M™ (D) 162

(E) Noreof thee

42. The numbe of childrenin colory

A are approximately wha per

cert of the numbe of childrenin

colory E ?

(A) 121 (B) 116
© 75 (D) 110
(B) 98

43. Whatisthe respectie ratio of the
numbe of males in colory B to
the numbe of females in the
samecolory ?

(A) 3:5 (B)7:5

(C) 8:7 (D) 5:7

(E) Noreof thee

44. Wha is the averag numbe of

residens from all the colonies
togethe ?

(A) 1654 (B) 1600

(C) 158 (D) 157

(E) Noreof thee

45. Wha is the differen@ betwea
the numbe of malesin colory D
and the numbe of children in
the sanecolory ?

(A) 138 (B) 1%

(©) 13x» (D) 13

(E) Noreof thee

Directions—(Q 46-50 Wha
approximate value shoutl cone in
plaee of the question-mde (?) in the
following questios ?

(You are nat expectd to calculaé

the exadc value)

46. 15-8% of 323 - 20-86 of 1B = ?

A) 12 (B)5
(© 15 (D) 3
(E) 9

47. 30B+27x3=7?
(A) 360 (B) 348
(C) 340 (D) 330
(E) 321

48, (3-58) x (1-75§ =2
(A) 25 (B) 40
(© 30 (D) 35
(E) 50

49. V5138 + V36 =?
(A) 21 (B) 6
Q) 12 (D) 18
(E} 26

50. 375 %349+ 275 =72
(A) 476 (B) 491
(C) 464 (D) 453
(E) 486



